Department of Mathematics
Moreno Valley College

Mathematics 52
Course ID: (27488)

Second Take-Home Midterm
Fall 2016

Dates: November 15, 2016 and November 16™, 2016
Timmes: 808 AM — 10:05 AM and 2:00 PM - 4:05 PM
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Problem 1 (20 points): Determine whether the following is TRUE or FALSE and if it is false
EXPLAIN why:
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greater than only. F peoét 5@\/\04,\ o EN e
o\se / T s Grecer -
| /g e e AN N o €AW
47 b. The solution for -5+ 7x <3x+7is3 > x.

\c&-

{[\ $ = 'lhesoluﬁonfor("";s_;)?_(_%.;.z) iszs—%.
Sk s A2 %

g | § T d The general form of the interval notation can be written as {variable|solution

}.
m&" Ky e\’&\o. Sér f—\O\M\oLQA/‘ vxo\r'v\jf\ NN
f \ C & (0,2) is located on the first quadrant only. e
a g

2

o, 2) i ,ipcal—eA betnieern
/r(‘ A @ f (—1,2) is located on the second quadrant.

If I, and [, make an angle of 90°,
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Problem 2 (10 points): Answer each of the following:
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C. What is the positive slope? -ﬁ_/_b_./__;_-_; _____ Y74
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d. Draw the positive slope:

e. What is the negative slope? -E - (- ...........................
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f Draw the negative slope:

g. Derive the point-slope form of the equation of line:

(y2=-¥1)
(x2=x1)

oints and write the slope formula m =
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Use (*1,Y1) and (x, y) as two given p
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: nacs verts line and
f lines: vertical
Problem 3 (10 points): In our class, we talked about two theorems o N
: example '
horizontal line. Discuss those two theorems and make sure to include p
both lines.

Hint: Use “Slope of a Line” lecture notes.




talked about two theorems of non-vertical lines:

Problem 4 (10 peints): In our
Discuss those two theon

lines.

Hint:

ure to include examples and graphs for both non-vertical




Problem 5 (10 points): Solve TWO of the following FIVE problems:
Solve for x given that |—2x + 2| = 3.

Solve for x given that |[5x + 12| = 6.

A line passes through (2,—1) and it is perpendicular to another line:
2y + 3 —5y = —2x + 5x. Write the equation for this line.

@ Solve the following linear inequality:

| 158 + ¥8 < (—6766776.766)° + 2p

\5- Solve the following linear inequality:
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property for synthetic division only, Discuss that
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Problem 7
| (10 points): Use either i
pomits): Use either long division of synthetic division to do the following
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P
roblem § (10 pointsy); Factor eac
8 (x*~12)

X =12) = (x- (WA x\(

h of the following;
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